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1.For the circuit shown below, find the Thévenin and Norton equivalent circuits. (20%)

O
62
6A {) %%39
36V
0
2.Find the voltage v in the circuit shown below. (10%)
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3.What is the equivalent impedance seen by the 2A current source? (15%)
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4.Find the current i(t) for t > 0 in the following circuit. (10%)
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5.For the circuit shown below, find the unit and step responses. (20%)
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6.Find the power absorbed by the circuit shown below for values of the voltage source phase
angle 0=0°, 90° and -90°. (15%)
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7.For the two-terminal circuit shown below, find the power factor and the average power
absorbed by the circuit. (10%)

ww  3Q
o MA —
1
v(t) = 157cos(3771) V —F

1508 T




